
































The participant draws 6 cards from a deck, and hands them to magician A. Magician A then removes one of the cards, 
declaring it to be the "special card," and hands it back to the participant. Magician A then arranges the remaining 5 cards into 
a pile and hands them to Magician B. By examining the pile of 5 cards, Magician B is then able to correctly guess what the 
special card is. How is it possible for them to do this?



"Hint"



By letting some of the card in the pile be face up, the trick can be done with 4 cards instead of 6 
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